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Topic:- General Knowledge and Logical Knowledge

1) Which cricket team won the 2017 Deodhar Trophy? / 37“?[ T ford fopdhe T H 2017 Bt aﬁ‘éﬂ'
LIRS IG

1. Mumbai / TS

2. Baroda / a@la

3. India B / SfSAT 1

4, Tamil Nadu/aitlaq@

Correct Answer :-

e Tamil Nadu / alﬁa=1|§

2) If three unbiased coins are tossed, then what is the probability of getting all the tails? afe d=

fFrones Riap! @1 SoTat 91dT 7, at 9t &1 gEURT @) U g1 ) R wiiidar 82

7

8
1.

1

3
2.

1

8
3.

1
4,

Correct Answer :-
1
8

2)



3) If the fifth day of a month is Friday, which of the following will be the seventh day from 10t of

that month? / T T BT Uidai i IwaR 2, @) PeRiRa A S o &t 109 e @
graqi f&= ghm?

1. Tuesday / AR
2. Monday/@ﬂaﬂ

3. Wednesday / §HdIX

4. Thursday / T¥=dR

Correct Answer :-
» Wednesday / §YdIX

4) Which number is written backward as 'Two thousand eight hundred and three'? / P9 A =&

0 9 forem WX, <31 391K 3ima 41 i+ et st
1. 3028
2. 8032
3. 8302

4. 3082

Correct Answer :-
e 3082

5) If INTIMATE is coded NIITAMET, then how is MASTER coded? / Tlﬁ INTIMATE &1

NIITAMET ¥ HIfS$d fo5a1 o1 8, 9 MASTER &1 &9 ®ifsd forar smam?
1. MASRET
2. AMTSRE
3. TERMAS

4. SAMERT

Correct Answer :-

« AMTSRE

6) If SAND is coded WDPE, then how is MORE coded? / Tf¢ SAND® WDPES Sif&d fopar Sirar
B, df MORE®! A HifSd foam S

1. QRSG

2. QRTG
3)



3. QRTF

4. PRTF

Correct Answer :-

7) If CAMEL is coded DCPIQ, then how is DONKEY coded? / af¢ CAMEL %Y DCPIQY ®ifsd
fooun SiraT 8, A DONKEY Y $A Bifgd fvar s

1. EQOOJE
2. FEQQOKE
3. EQQOJD
4. EQQOJE

Correct Answer :-
« FQQOJE

8) If people is coded PLPOEE, then how is trend coded? /'CI'% people P PLPOEE 9 ®ifsd foar

\_rI'I?IT%, @ trend ﬁﬁﬁ%‘dﬁ»‘mmﬁm?
1. TRDNE
2. TNERD
3. NDETR

4. DNERT

Correct Answer :-

9) Select the option that is true about the Statements and Conclusions given:

Statements:
All lambs are hares
Some bicycles are not lambs

Conclusions:
I. All bicycles are hares
I1. Some bicycles are hares

/ 39 famey &1 991 I St for f3u T ST 3R fewul & TR & 98t 2
DYA:
It A @ @

(4)



T Agfera v T8

Ry

1. 9t wrs e @R

L. $O IS TN &

1. neither conclusion I nor conclusion II follows /= 1 fFepef 1 3R 1 8t e 11 FfaRor vl

2. both conclusion I and II follows /&Y 1 3R 11 A SR B %’
3. only conclusion II follows / Had Ty 11 ST FRAT S
4. only conclusion I follows / A (SHY [ TR GG

Correct Answer :-

« neither conclusion I nor conclusion II follows /7 Bt fIsHY 1 3R 77 & Feps 11 STIERUI GG

10) Select the option that is true about the Statements and Conclusions given:

Statements:
All clothes are sons
Some papers are clothes

Conclusions:
I. All papers are sons
I1. Some sons are paper

1 39 fawe BT ag- BT o 7 faw g Syl iR FArepot & I & 98l &:
FHY:

aff pugae §

e

LR T O §

L. $3 IS BT &

1. neither conclusion I nor conclusion II follows /7 81 fFsert 1 3R 71 & Fm 11 STERUT vl §

2. both conclusion I and II follows / 5B Y I 3R 11 g SR HRd g
3. only conclusion II follows / Pad fASHY [T 3FIIRUT BT §
4. only conclusion I follows / Had s | ST AT

Correct Answer :-

« only conclusion II follows / Had IS 11 SRV BT &



11) Select the option that is true about the Statements and Conclusions given:

Statements:
All bottles are iron
Some bottles are paper

Conclusions:
I. Some iron are paper
I1. Some paper are iron

/ 39 fased &1 991 g St fos faw T Sy SR fFeput & a1 & 98 6:
DY

ft Stae wieT §

$O didd B §

ﬁ'qﬁﬂf:
I. $O AT SR &
11 $& HIT AlgT §

1. neither conclusion I nor conclusion II follows / - ésf fAspy 1 3R T ﬁf ey 11 ST GG %

2. both conclusion I and I follows / e 1 3R 11 HF SIIRU Rl g
3. only conclusion II follows / BaT FT5HY IT STURTT PRAT
4. only conclusion I follows / BT fHY [ STTRVI HRAT §

Correct Answer :-

« both conclusion I and II follows / fthY I 3R 11 S SR GG %

12) Select the option that is true about the Statements and Conclusions given:

Statements:
Some pens are rubber
Some pens are daughters

Conclusions:
I. Some daughters are rubber
II. All pens are rubber

1 3 faped &1 T9-1 BIfoTe it f faw T Sy o fFrepof & IR o 98t §:
Y
PO FAAITS €
PO Hed dfedi §
o
1. $O ST TS §
(6)



1L 9l FH WS §
1. neither conclusion I nor conclusion II follows / 7 §1 fsHH 1 iR =1 g fp 11 SR FNAE

2. both conclusion I and II follows / F155Y 1 3R 11 gH SR P
3. only conclusion II follows / A 5BY 11 3{TERUI HRT &
4. only conclusion I follows / $Had pY [ S{FIUT pdl g

Correct Answer :-

¢ neither conclusion I nor conclusion II follows / ¥ EP[ ﬁ'@b_ﬁh GﬁT Gl _SD[ ﬁ'wmf 1T 319R0] Wﬁ %

13) The Women’s hockey team wins 2016 Asian Champions Trophy. / 3|
nfgar siet E = TiRrae Affa=a grwt 2016 Shidl|

1. China / 9

2. India / HRd

3. Japan / SITUTH

4, Pakistan / UTfop T

Correct Answer :-

o India/HRd

14) In a queue, Shekhar is ninth from the back. Arun's place is eighth from the front. Nikhil is
standing between the two. What could be the minimum number of boys standing in the queue? / TP

tfed §, TR T 9§ 9 T UR g1 3RS0 &1 WU 31 W 3madi g1 Aifea 3 & S A @st
B U ¥ S del & gaw T fra 8 Tt 82

1. 10
2. 14
3.8

4,2

Correct Answer :-

15) In a certain code language, fi-uit is good means jham carz beta, eat good food means carz lemp

gren, tree is tall means beta prom loco. Which is the word for fi-uit in that code language? / Uh W

IS HTHT fr', fruit is good®1 3 f Jham carz beta, eat good food 1 3 ¥ carz lemp gren,

g:; is taélﬁ'l 3 peta prom loco gl %I EX HIS HIHT H fruit%ﬁﬁ fPa s a?rsﬁnm
Tl g?

1. jham

()



2. beta
3. lemp

4, carz

Correct Answer :-

16) Fundamental Duties was included in the Constitution through the Amendment adopted

in 1976. /1976 T (U 7Y TR & AT I Wi ¥ gayd Sl o e fear
T AT

1, a7th/ 479
2. 32nd /399
3, 42nd / 427
4. 56t/ 569

Correct Answer :-

e 4ond /a0

17) Manoj and Sachin are ranked seventh and eleventh, respectively from the top in a class of 31
students. What will be their respective ranks, if ranked from the bottom? / 31 faenfdai 5t U BET ﬁ,
TS AR e = 2 & o= Ardai 8k TMRgal I Ui 6 g1 afe =i &1 a3 fean
ST ol 39 1 BT T AT I g

1. 20t and 24t / 2091 3R 2491
2. 24th and 20t / 2471 &R 2071
3, 251 and 215t/ 2591 &R 2171

4. 26™ and 22"/ 2691 &R 2291

Correct Answer :-

o 25t and 215t/ 2591 3R 211

18) Which ministry has recently launched two new contraceptives, named “Antara” and “Chhaya”? /

T Famera A g1 g § SieRT 3R B AW &l Y THERIYS Ry fpu g
1. Ministry of Health and Family Welfare / W Ud URAR Hedro HAed

2. Ministry of Agriculture and Farmers Welfare /@Qﬁ ERIEETCIUEEINES

3. Ministry of Social Justice and Empowerment / THTISI® 1T Td IRIGkI1HR0T HATAY

8)



4. Ministry of Women and Child Development / H%Qﬂ T4 91 EEARKEINE

Correct Answer :-

e Ministry of Health and Family Welfare /WQEWWW

19) The city of Gwalior is located on the banks of river . /TEI'Iﬁ'I'CR LIRES T-I'a *
o RE B

1. Narmada/ '_'ll:ial
2. Chambal / JHd

3. Betwa / §ddl
4, Mahanadi/ Ilﬁlqé

Correct Answer :-

e Chambal / dH

20) Find the odd one out: / T ﬁrlmslmaﬂﬁrq
1. Gujarat / JJoRTd

2. Lakshadweep/ﬂ&l@&q

3. Daman & Diu / ¢H eﬂva‘ia

4. Andaman & Nicobar / 38 3R @R

Correct Answer :-

e Guijarat /1]eIRId

21) Mukhyamantri Teerth-Darshan Yojana was started in Madhya Pradesh in the year ./

aeoeR # gt did e oo St geema_ ad A gs ot
1. 2014
2. 2012
3. 2008

4. 2006

Correct Answer :-

e 2012

22) In which of the following states is black soil found? / FIHTIREd & & foow g & Hrait ﬁl@ it
AT 3?2

)



1. Rajasthan / XTSIRYTT

2. Madhya Pradesh /A e

3. Jammu & Kashmir/ﬁqﬁm
4, Arunachal Pradesh / 3EUITE Uax

Correct Answer :-

e Madhya Pradesh / H&I o

23) Which of the following is the longest National Waterway in India? /mﬁ' Y B I HRd

BT FIG Ta7 IPIT FTHF DI | 52
1. Narmada River/:lﬁa'[:lé)[
2. Betwa River / 9ddl Il

3. The Ganga River between Allahabad and Haldia / SCETSIE 3R gfeadl & Heg T Tt

4. The Brahmaputra river between Sadiya and Dhubri / S&aT Td Eﬁﬁasqu:la

Correct Answer :-

« The Ganga River between Allahabad and Haldia / SATETSIG 3R fcear & A T =7

24) Which one of the following industries uses bauxite as a raw material? / fFrafafaa AF Bl
I, TRITGE DI H=l ATA & &9 A SUANT BT 82

1. Cement/?ﬁﬁ_cr
2. Jute / V[C

3. Aluminium /W&Iﬁaﬂ
4, Electronics /E@ﬁﬁﬁaﬂ

Correct Answer :-

e Aluminium /W&fﬁﬂﬂ

25) Kakrapar Atomic Power Station is located in . [ PTPIIUR YHTY[ Sell W= |
@z

1. Tamil Nadu /?I'&-IT“FI'@

2. Rajasthan / XTSI

3. Gujarat / T[SIRId
4. Maharashtra / HgIRTSC

Correct Answer :-



¢ Gujarat / T[SIRTd

26) When was the India's first solar powered DEMU train launched? / YR 1 UYH YR Soll F1erd
SY ¢ Bt IR H I 4T At

1. 2005
2.2014
3. 2010

4. 2017

Correct Answer :-

27) Nitin is ranked eighteenth in a class of 49 students. What is his rank from the bottom? / 49

faenfiy ot ues wen & fAfam 7 sreReat vy fan e @ SaeT i ®a |
1. 18
2.31
3.19

4, 32

Correct Answer :-
e 32

28) India’s first Partition Museum is located at ./ HRd DT YYH ]%W?W
A fRE Rl

1. Indore / s’éR
2. New Delhi /Tscﬁc_vﬁ

3. Amritsar / STHddX
4. Jaisalmer / SIITHR

Correct Answer :-

e Amritsar / HdUX

29) The Madhya Pradesh government conferred the Kumar Gandharva Award in 2017 on i

2017 H AT YT R A DI PUR Tyd QREPR J T foam o
1. Amir Ali Khan / 3fHR 3fell @M

2. Javed Akhtar / STd¢E 3R&R

(11)



3. Kapila Venu /Eb—fq?ﬂaq
4, Hirabai Barodekar/ﬁﬂ“ﬁm

Correct Answer :-

» Kapila Venu /Wﬁ?ﬂaq

30) Padma Awards are announced every year on the occasion of WAL | WR’ETH’&

P IO WO P
1. Gandhi Jayanthi / TRt ST

2. Independence Day/@lﬁﬁ?ﬂﬁaﬂ

3. None of the above /g:lffﬁaﬁ_qu_&pf

4. Republic Day / T0TdH fga9q

Correct Answer :-

« Republic Day / TTUGH fgad

31) was known for her valiant fight against the British and was the queen of King

Vikramaditya Singh of Ramgarh. / ﬁW%ﬁWF’%WW%WEWW%
et faspafee Rig &1 I & =9 & ST STt A7

1. Rani Lakshmibai /ﬁaﬁaﬁf
2. Rani Padmavati / 9T GSITdal

3. None of the above /%ﬁ@aﬁg:@f
4. Rani Avantibai Lodhi / I 3ddiaTs aelt

Correct Answer :-

« Rani Avantibai Lodhi / YT W?ﬁ‘iﬁ

32) is one of the well-publicized wildlife campaigns, launched in 1973. /1973 A @i far

T 3t ORT | ARG I=gsitg ST # 9 U@ 5
1. Project Rhino /mﬂ_{*ﬁ

2. Project Barasingha / Lfl\l\ﬁdd dRGR—i‘II

3. Project Gharial / Toiae aRard

4. Project Tiger/mm

Correct Answer :-

e Project Tiger /Cﬁ@ﬁ? EI%‘ R



33) Mount Abu is located in state. /WW_W‘?%%I
1. Rajasthan / XTSI&YTq
2. Gujarat / 1[wIRId

3. Madhya Pradesh / Y] el

4. Maharashtra / HeIRTSC

Correct Answer :-

¢ Rajasthan / XTSI

34) Basdeva is a traditional community of singers based in the region. / CRIE|| aa
T fRUa TrIw| 3T Th TRURS GYea 7|

1. Baghelkhand / CERIEE]

2. Bundelkhand / w

3. Malwa / HIIdT

4. Chota Nagpur / Biel MY

Correct Answer :-

« Baghelkhand / SUTGS

35) Hoshang Shah's Tomb is located at . _Eﬁ'-‘Z'FT UG RICER o fuqa %I
1. Patalkot / OTATAI®HIC
2. Chanderi / T

3. Mandu / 1:|'|T§'
4. Khajuraho / @W

Correct Answer :-

« Mandu/HIg

36) Complete the series choosing the missing number: / T WS ADBR YEAT P GRT DIOIT:
2,9, 28, 65, 126, ; 344

1. 220

2.217

3.216

4. 218



Correct Answer :-

o« 217

37) Complete the series choosing the missing number: / Y& TG BT EAT BT T BIFOIC:
7,12,19, ; 39

1.29

2. 28

3.26

4.24

Correct Answer :-

38) Complete the series choosing the missing humber: / gt =T gIPY m Cg| 0 Eﬁm:
1, 2,5, 10,17, 26,

1.38

2. 36

3.37

4. 35

Correct Answer :-

39) Hyderabad will host the Indian Science Congress (ISC) in 2018. / 2018 |

TREG, YR I S0 (3MSTE) ) Aerarit s
1. 106t / 106
2. 105th / 105
3. 104th / 1047
4,103/ 103F

Correct Answer :-

. 105th / 10581

(14)



The series given below contains a sequence of numbers. Identify the incorrect combination: /

H2 & 1€ gmen |, T@ei H1 U HH IufRAT §1 Ted G U
0,2 36,9, 18, 27, 54

1.6

2.0

3.54

4. 18

Correct Answer :-

Topic:- Mental Ability and Mental Aptitude

1)

If the fellowing tweo squares shown below overlap, which one of the following options is

formed? / AT ToreeT ef et 3tfcieaniad Bl &, af fofeet & & wicl a1 Uk faehed sofar
&7

i
i
: —_—
i
! ——
v A V. .
& .
- T
Ll
ot o — o —
T
1.
) &
X -
A
—
2.
. -
| |
\
T
T |
3.



T

Y L R S

A A
\
|
|

Correct Answer :-

L}

-

If in the figure, set A represents all the athletics participants, set C represents allthe cricket players,
while set E represents all the Europeans, then which area represents the European athletes? /3 E

I #, WA A Tl Ui, Sl w gfdr & Waeaa ¢ Wi ke Roefsar &1
galfelm &, sTafes Teearar £ ool U &1 gl 8 & ier 7 &0 U Welde, f@enfsar @

GTAT 7

|"j ‘ \"'ﬂ
B o— =
!1&" ka " b 'lL x"-.
N u)f ‘

E\"/ ¢
~

1. F

2.G

3.D+G

4,.F+G

Correct Answer :-

. F+G



In the sequence shovwn below, which figure comes next? / A= &3 I E 8, 36T 3%'!35%
st Or IEEN?

.
‘ 7
|

2.

3.

— T
."'. i
|“‘ .|
4,

R Find the average of the following numbers: g, é’;’i_is /ﬁmﬁiﬁ@ﬁ THEm3AT &1 3ad AT &L
T

1. 13/60

2. 13/40

3. 11/40

4. 11/30

Correct Answer :-

« 11740



1
The sum of three numbersis 84. The second numberis 33§ %% more than the first and the third is 40 %
more than the sum of the first and second. The numbers are: f'EﬁFF HIEAT &l AR 84 %I q-ﬂi
. 1 .
e, ,qﬁf»ﬁﬁﬁg% e § A AT T, ggell AT g0l & AGer ¥ 40% S G

1. 10,13, 61
2.21,28,35
3. 10, 20, 54

4. 15, 20, 49

Correct Answer :-

« 15,20, 49

6)
In the sequence shown below, which figure comes next?/ Al B3 I &E H, 39T 3‘3@%
it T IRENT

P g :: -“L, 4 b
s || ey |
[~ " ~ )
- e
i " I s W vl

||
1.
|
2.
B
¥ s"-».____. {-‘:“i.;
3.




—)

Correct Answer :-

7

7) Find the average. / 3Naa R
32,39,46,52,61 & 76

1. 47

2.45

3.49

4,51

Correct Answer :-

8) The series given below contains a sequence of alphabets and numbers. Identify the
incorrect combination: / <= Eﬁ"lé aj@al ﬁ, \’J&Iﬁ \"rﬁ? H.@Iaﬁﬁwmﬁ%ﬁ%l Tdd
OIS UgdTHg:

I.wxevw5601wvexw

ii.wxevw5601wvexw

fii.wxevws5601wuexw

iv.wxevw5601wvexw

1. il

Correct Answer :-

e il



9) When asked about his age, a man replied that his age is equal to the value of one angle of an
equilateral triangle. What is the person’s age? / OId Tdh J3=Y T St 3y FIRH ST I, ar
I IR T 6 ITPT 3y U AHaTg B0 & Th HI01 & A & aRI6R § | Al Bt 3y
foai g2

1. 45
2.90
3.30

4. 60

Correct Answer :-

« 60

10) A person was asked to state his age in years. His reply was, “Take my age five years hence, multiply
it by five and then subtract five times my age five years ago and you will know how old | am”. What

could be the age of the person?/@ﬁﬁaﬁﬁmmﬁﬁﬁWWI JHBT 3TN I,
Tt AT FAAT I U TY q1g B drford, fhe 37 U™ I 0ra H¥ 3R fibw uig af gd ot oy
BT UTE AT A °ST S aF 3MUH! uar TenT for Y 3y farait 817 39 =safaa 3t ey fvasit gt

1. 40 years / 40 Gl
2. 60 years / 60 GL
3. 70 years / 70 qy

4, 50 years / 50 G

Correct Answer :-
e 50 years /50 GL

11) In the class, the average weight of 32 students is 44 kg. The average weight of 40 students in
another class is 38 kg. If the students of both the classes are combined, then find the average weight. /

H&T H 32 BT BT 3Ed I9I 44 fHIT 2| U 3= H&T H 40 DT BT 30T 99 38 fFur g1 afe
N1 P3N & BT B FYIfoTd B faar SIe o i aoi= Ut e |

1. 40.66 kg / 40.66 iasﬂl
2. 30.65 kg / 30.65 fhHIT
3. None of the above /B@ﬂﬁﬁﬁﬁéqﬁﬂf

4. 35.21 kg / 35.21 fuT

Correct Answer :-

« 40.66 kg / 40.66 U



12) A fruit seller buys 200 apples for Rs. 80 and sells it for Rs. 100. What is his profit percent? / T bl

fashdr 80 TUY H 200 VT WHSAT 8 3R I 100 TUY T T T & 1 STBT ATH Ufara =1 82

1.35%

2.25%

3. None of the above / SR T A d?lifTI_Eapf

4.30%

Correct Answer :-

e 25%

13) Simplify the ratio 18 : 45 : 72. / 3JUTH 18 : 45 : 72 BT UIATHU] BN |
1.1:3:5

2.3:5:7

3.2:5:8

4.6:5:4

Correct Answer :-

e« 2:5:8

14) Find the value of k for which x = 2 is a root of the equation 3x% - 2kx + 5 = 0. / k T HTH JTd ﬁ,

foraed fore x = 2, T FHHRT 352 - 2kx + 5 = 0 BT TH YA B |

18

4

—
(939

TN

—k
"-"u-

Correct Answer :-



15) Find thevalueof25*3/15+2*5./25%3/15+2*5 WWWH"’%I
1.0
2. 45
3. 15

4.75

Correct Answer :-
e 15

16) In covering a distance of 30 km, A takes 2 hours more than B. If A doubles his speed, then it would

take 1 hr less than B. Find the speed of A. / 30 m&’@@mm%%@ A, B 2 T 3iftrp
Aar 21 afe A U= =Te Y SR AR ¢ <Y af B | 1 HeT HH AT A B =1ed J1d B |

1. 6.5 kmph / 6.5 fopHl Ufd giet
2.6 kmph/Gﬁv_ﬂﬁuﬁ‘a‘a
3.5 kmph/SWﬂQﬁﬂa
4. 5.5 kmph / 5.5 fooH! fd et

Correct Answer :-

. 5kmph/5ﬁv_ﬁ>[9ﬁ‘ﬂ'a

17) In a certain case,8 men can do a piece of work in 12 days. After they have worked for 6 days, 2 more
men joined them. How many days will all of them take to complete the remaining piece of work? / Tdh

AT o ¥, 8 U TE o1l BT 12 A A % 9P d €1 6 137 Frf B & Uy, 2 3R =W
T 81 o &1 39 Fao! A9 Hrf 31 guf e & foram fom1 e

41_ days / 4% G
1 o] 3

4 4
4 days/4- &=
5 5 ¥/ 5

12 days/ 42 o=
3 > >

3 o
4 days f 4= T&d
8 8

Correct Answer :-

4-ida3rs,f4i_’ &=t
> 3



18) Tanya's grandfather was 8 times older to her 16 years ago. He would be 3 times of her age 8 years
from now. What was ratio of ages of Tanya and her grandfather 8 years ago? / 16 atfq:q‘amr a‘TE'IE'Nﬁ

I 8 TAT TS A1 aY 3T T 8 a9 UYTd ITBT MY P 3 TAT S| 8 T Y a1-4T 3R IHP gIersil
B AT BT UTd FIT UT?

1.11:50
2,11:54
3.11:53

4.11:51

Correct Answer :-
e 11:53

19) Which one of the following four addresses is NOT EXACTLY same as the one given below? / IGL] ﬁ,&

T IR gal § 9 9 A T 1d & St g0 S 19 91 0P 98 27
Paul Bauer

Sudweg 3,

Glandorf, 49219

(i) Paul Bauer
Sudweg 3,

Glandorf, 49219

(ii) Paul Bauer
Sudweg 3,

Glandorf, 49219

(iii) Paul Bauer
Sudveg 3,

Glandorf, 49219

(iv) Paul Bauer
Sudweg 3,

Glandorf, 49219



4, iil

Correct Answer :-

20) On the sale of two watches at Rs. 2000 each, a merchant gains 10% on one and loses 10% on the

other. What is the net result?/u?aa?a'ﬁ 2000 W?ﬂ'&%%’\‘ﬂaﬁ, a’rﬂ%&r%ﬁm@rmﬁ
TS TR 10% BT ATY 3T TR GO TR 10% D1 BT §3 | [ TNUITT T 82

1. No profit and no Ioss/ﬁ'&pfﬂﬂ-{ GhTBTﬁ:I_Eﬁ
2. 5% profit / 5% <Y
3. 1% profit / 1% <ITH

4,1%loss /1% BIIEI

Correct Answer :-

e 1%loss/ 1% EIIEI

21) The list price of a cassette player will fetch a profit of 40 %. How much discount on the list price
should be offered to attain a profit of 19 %? / Th %\QE' WO BT '\‘f:ﬁ Hed, 40% BT FIT‘H'%TITI 19% BT
ATY TS B & foIE, e I R a1t ge UeH ST a1gu?

1.21%
2.12.5%
3.16%

4. 15 %

Correct Answer :-

22) A train travels at a speed of 81 kmph. How many meters will it travel in 20 minutes? /Wm

g1 fopeft ufer g1 Y =mer A Terdt 21 20 foFe & a8 foeaq diex Ttz

1. 27000 m / 27000 iR
2. 37000 m / 37000 HieX
3. None of the above /thﬁar-r 7Y EF-TBC :I_ng
4, 47000 m / 47000 HICX

(24)



Correct Answer :-

» 27000 m /27000 Hiex

23) If Rs. 360 is divided among Abdul, Babu, and Chandar in the ratio of 2 : 3 : 4, then Babu will get: /
Ife 360 TUY B 3fegd, AT SR T T 2: 3: 4 F rgura § fauriora favan wg, of a1g )
TS g1

1. Rs. 200 / 200 ¥UY
2. Rs. 120/ 120 394
3. Rs. 80/ 80 T

4. Rs. 160 / 160 309

Correct Answer :-

e« Rs.120/120 500

24) If 25 salesmen earn Rs.1000 in 10 days, then how much will 15 salesmen earn in 15 days? /qﬁ 25

fahan, 10 =1 & 1000 TTA T § <1 15 fa ® 15 fashan feamn wandr?
1. Rs. 900 / 900 3T
2. Rs. 820/ 820 3T
3. Rs. 930/ 930 3T

4. Rs. 750 / 750 SUY

Correct Answer :-
« Rs.900/900 ST

25) Raja walked northwards for 3 km before taking a left turn. He walked 4 km after taking this left turn
and turned left again this time he took a left turn after walking for 6 km and stopped after walking for 8
km. What is his present location with respect to his start point? /TIGTETQ 'ﬂ@ﬁ'@"ﬂ?ﬁ IR ﬂ'ﬂ'ﬂ 3|
3 3 fHT a1 39 91 WIS F1 a9 & uyTa at 4 5 e ik fibe ane g1, 39 9K 6 fHft e
%uma}%mtwaﬁvsﬁ;ﬁaaﬁ%umwwn RIS fdg & degd & sa@! ada

KT e?

1. 5 km North-East /5 %rﬁeﬂv-qﬁ

2. 8 km North-West / 8 fobtil ITR-U3H
3. 8 km North-East / 8 ﬁﬂﬂﬁ?—q\é

4. 5 km South-East / 5 ﬁo‘ﬁ??{f\&mﬂj

Correct Answer :-

* 5km South-East /5 %ﬁ‘fa’f\&mﬂj



26) A wire is bent to form an equilateral triangle of each side 198 cm. The wire is then reshaped to form

a circle. What is the diameter of the circle? / 198 I Bt T W%WWW@W%
mqgmﬁnﬁ:ﬁm%lﬁﬁﬁﬁ%ﬁumﬁﬁwﬁwﬁmmélaﬁrmm

1. 98 cm / 98 TH}
2.94.5 cm / 94.5 T
3,198 cm / 198 JHT

4. 189 cm / 189 THY

Correct Answer :-
« 189 cm /189 THT

27) Mansi's grandfather says, “Mansi, | am now 30 years older than your father. 15 years ago, | was 2%

times as old as your father”. How old is the grandfather now? / AL 5 E'I_c."ITrﬁ 'Cb?a %', "Hﬁ'\‘ﬁ, 3d

jégafgﬁmﬁsoaﬁmél 15 99 qd, # grer far & 2 V2 77 g1 417 | a6 ¥, grerelt fhae

1. 50
2.55
3. 65

4. 60

Correct Answer :-

28) The least number that must be subtracted from 319 so that the remainder is exactly divisible by 23

is: / A <gIaH S o f 319 | TerT uS a1f Qe guf =0 A 23 | faurfe g 9w, 8
1. 16
2.14
3. 20

4.4

Correct Answer :-

29) In aschool, 4 / 5 of the children are boys. If the numbers of girl is 200, then the number of boys will

be: / TP AT & 4/5 = ©igd & | Al asfpUl &1 TB 200 €, 9 dSH! 1 TBT g1

(26)



1. 600
2. 900
3. 800

4. 700

Correct Answer :-

e 800

30) A person purchased a phone, and got a discount of 5% from dealer. He sold it at a profit of
10% on his purchase price. What is his percentage on actual price of the phone? / WTJIT%I Gl

TP I WRIGT 3R fathar | 5% @1 Fe U o1 3T 309 59 oI W 10% & a9 W 3T 99
T w9 & arafae geu ® S9! Ui 1 82

%

A
2

bt |

(o]
b | =

%

%

b |

3.

4. 5%

Correct Answer :-

Topic:- Science and Simple Arithmetic

1
) An equilateral angle, ABC is inscribed in a circle with centre O. Find #BOC. / ABC U

THETE e & S e “0” drel o god # 3ol &1 2BOC 2T il

1. 60°

2. 30°

3. 120°

4, 150°

Correct Answer :-



2)
In a trapezium, £4 =x+25%, LB =v"2C = 98°, 2D = 2x+5° then the value of x and vis: /

Ueh THeld Ogiel &, 24 =x+25°, LB=y°.£0=98% £D=2x+5° §, dl X Ud Yy &I

" £

1.x=58°,y=282°
2.x=52°,y=282°
3.x=50°,y=282°
4, x=50°,y=92°
Correct Answer :-

e x=50°,y=282°

3
) /E
A — 7~ B
C 7P — D
Given £AOP =x° 20PC =v°. if xoy = 5:13, find the value of x and v. / T&ar Tmar % o
£ADP=x° /OPC=v° £, 9% xy=513 &, a x v y &1 HF AT il
1. x =85°, y=90°

2. x=50°, y=130°
3. x =98°, y=82°
4, x =60°, y=120°

Correct Answer :-

. x=50°, y=130°

4) A man covers a distance of 50 km at a speed of 40 km/hr, and another distance of 70 km at
a speed of 30 km/hr. The average speed for the whole journey will be: / T Gﬂ'alﬂ 50 foet
Dt g¥f 40 fpeii/der Bt a1a & TU Ha1 §, 9UT 70 fHHh 3t o gt 30 fpdt e St aa @
TT BT ¢ | Yol 9= B SNHa AT SR

(28)



21 21 =
33 5 lanhr /33 2 FeRe/EeT

1. ) )

f:
w

36 i kam/hr /36 Y4 TeREEET
34 B jonmr /342 e
15 15

40 Yalan/hr [ 40 Vi TorEfer
4,

Correct Answer :-

5) A village has a population of 5000 people and it requires 100 liters of water per head per
day. The village has a tank of dimension 25m, 10m, and 6m, respectively. For how many days

will the water in the tank last (1m3 = 1000 litres)? / Q& TITd 1 STRIIT 5000 AT & dUT
ufa safea ufd &1 100 <fiex i BT STaTgHdar gidl g1 id § HH: 25 Hiew, 10 Hiew iR

6 ez & AT 91T U & 71 3 &1 Ut fovaq) fa & = a# = 1000 ofieR)?
1. 11 days/ 11 Tad

2. 6 days / 6 Ta

3.9 days /9 f&d

4.3 days /3 e

Correct Answer :-

e 3days/3 T

6) Ram sells an article at 15% profit. Had he sold it for Rs. 21 more, he would have gained
18%. The cost price of the article will be: / X T I B 15% & a1H TR s=a1 31 afe
I 3 21 A S T 9 BT, A1 T8 18% SMfSTd B AHdTl UT| 9% BT AR oo

1. Rs. 600 / 600 STY
2. Rs. 500 / 500 ST
3. Rs. 700 / 700 3UY

4. Rs. 800 / 800 ST

Correct Answer :-

(29)



« Rs. 700 /700 30T

7) Two towers are 30 m and 35 m high. They are 12 m apart. The distance between their tops

will be: / G1 €TAR 30 Hiex a1 35 Wex Ha §1 9 12 M B g W &1 396 ol & i
D1 gl 3 UPR gL

1.16m/ 16 9t
2.15m/ 158l
3.13m/ 13l

4, 14m/ 14 9t

Correct Answer :-

« 13m/13H

8) A’ssalary is the same as 3 times B’s salary. If together they earn Rs. 3680 per month, find

their salaries./AW'aT'Fl, B%éﬂ?iﬁrzﬁqw%l ui%aﬂ‘fm%r,uﬁﬂw%somﬁwﬁ
&, t 9 BT I T B

1. A:Rs. 2830, B: Rs. 850/ A: 2830 %, B: 850 %

2. A: Rs. 2500, B: Rs. 1180/ A: 2500 %, B: 1180 %

3. A: Rs. 2800, B: Rs. 880/ A: 2800 %, B: 880 ©

4. A: Rs. 2760, B: Rs. 920/ A: 2760 %, B: 920

Correct Answer :-

o A:Rs.2760,B: Rs. 920/ A:2760%, B: 920 %

9) Evaluate: / eI B1:
3 2

42 X 2433

1.392

2.256

3. 149

4, 400

Correct Answer :-

e 392



10) Factorize : / Waﬁ'
8x 2- 10x +3

1. (4x—-3) (x-1)
2.(4x-3)(2x-1)
3.(x-3)(2x-1)

4, (x-3) (x+1)

Correct Answer :-

e (Ax-3)(2x-1)

11) In how much time will the simple interest on Rs. 4000 at the rate of 9% per annum be
the same as the interest on Rs. 4500 at 9.5% per annum for 4 years? / e Twa § 4000
FUY TR gfaad 9% Pt G A ATYROT TSl ST 51 ST FoTa=1T 1o 4500 ¥9Y UR 4 TUF &
forg wfer aef 0.5 Pt R A ghM?

1.4years/4a'5f
2.3 Y2 years/3 v, Y
3.4 Vayears /4 v, ay

4.4%years/4%<—1|13f

Correct Answer :-

. 4%years/4%a'5f

12) If the base and altitude of a triangle are doubled, the new area: / tﬂ% Wﬁ‘{-ﬁf Ca)

STYTR Td SIS ST 81 STl 8, Y =147 &% d g:
1. Does not change / gfafda T8l a?ﬂ %
2. Becomes four times the original / H¢T W PIAR AT E?f SITdl %

3. Becomes twice that of the original / H{&T &ADHA Bl G-I HEIGIE
4. Becomes half of the original / Hcl AFH BT TN & AT §

Correct Answer :-

» Becomes four times the original / Hcl éﬂW PIARIAT E-T olldl %

13) The remainder when 3a® — 8 is divided by (a- 1) is: / SId 323 - 8 I (a- 1) ¥ faurfora
o ST 8, 99 2w:

(31)



14) The ten’s digit of the cube root of 29791 which is a perfect cube will be: / 29791 oK

e 1 3818 3, ol b o qui w1 3
1.3
2.2
3.4

4.5

Correct Answer :-

15) The probability of getting a vowel from the letters of the word “PENCIL” is: / &Y

“PENCIL” ¥ Ueh TR UTW g4 &1 U dT §:

|
1.3
1
2

1

4. 6

Correct Answer :-

16) Which of the following are liquid metals at nearly 30°C? / Frafafea d 9 #19 ay 30%C W
%9 UTg 87

- (32)



1. Mercury, Caesium, Bromine / YR, ?ﬂﬁifqﬂ, S

2. Gallium, Caesium, Mercury / Tferam, i, URE

3. Bromine, Mercury, Gallium / a-tﬂ:f, UR<, ﬁﬁ"l’qq

4, Fluorine, Chlorine, Bromine / qﬁ&hﬂ:{, a%h‘\’ﬁ, S

Correct Answer :-

 Gallium, Caesium, Mercury / ﬁﬁ’l’qq, ?ﬂﬁflm, URq

17) Which one of the following agronomic conditions affects cultivation practices and crop yield? /

o1 d PRy fRufy, @t gadt srvaril td vaa Bt UgaR ®) THIid Bt 82
1. All of the above / c{crzjaa gt

2. Soil quality only / Hdd el B! OTA

3. Weather only / Bad HIGH

4. Availability of water resources only / A ofet ATl Bt SUASdT

Correct Answer :-

« All of the above / B'Cl?i?ﬁ gut

18) Splitting of light into its constituent colors is called ./ TBTRT BT U Haed 0 A
faufora giem FEAI G|

1. Normal / ITHIY

2. Dispersion / PEAE]
3. Spectrum / W
4. Reflection / ORTAC

Correct Answer :-

» Dispersion / P10

19) Oxidative breakdown of respiratory substrates in the presence of oxygen results in the release of:
/ THIo Y SUTRITT B G SraRIaR & SATptDpRuil e &1 uiorfa = & sagfaa &

1. Bthyl alcohol and lactic acid / T TIed adT dfdee S|

2. Ethyl alcohol and carbon dioxide / QIEIFI U,Qld?\lgﬂ TUT BT 313'31ng%||$6 |

3. Carbon dioxide and lactic acid / BTa 31331T0[3'{-II$5 JUT dfdea S{HI

4, Carbon dioxide and water / TS 31331T0[7{-II$S GRIKE]

Correct Answer :-
(33)



« Carbon dioxide and water / BTa SISHHHISS TUT OIdl |

20) Choose the products of glucose metabolism in muscles in the absence of oxygen: / STRITe Bt
SufRAfa § HiaURRN & @i Taray & IdTg] & gH

1. Pyruvic acid + Energy / U dP 3T + Sl

2. Lactic acid + Energy / e 3 + S

3. Carbon dioxide + Alcohol + Energy / W@’s’&uﬁﬂ'@g + Qctb\l 6TQ'1 + 3ol

4. Carbon dioxide + Water + Energy / CACEI SRS + Id + 3ol

Correct Answer :-

» Lactic acid + Energy / Afded 3fd + Sl

21) If K, L, M and N shells of an atom are completely filled with electrons, what would be the total
number of electrons in the atom? /tﬂ%wm$ K, L, MdYTN aﬁwqp’f U Y sc‘m;m IR
fou wird €, a9 wRuT) ¥ sAeeTH B $a S fhat g

1. 50

2.32
3. 18

4. 60

Correct Answer :-

* 60

22) The term gene was coined by e CASIE] GIRT T AT AT
1. Mendel / Had
2, Watson / dIc¥

3. Johnson / ST
4, Darwin/ & Iéﬂ

Correct Answer :-

« Johnson / Q9

23) The planet between the orbit of Earth and the Sun is: / t{@ﬁﬁﬁ&ﬂ GLI q;dé?mqu CaR I
ICEG] %:

1. Mars / H3Tdl

2. Jupiter / Q@Hqﬁf

(34)



3. Mercury / Y

4, Neptune / efcl\_ﬁf[

Correct Answer :-
e Mercury / gY

24) The whole apparatus including electrodes, electrolytes and vessel containing them is
called ./ X1 IUHRUT forad sadels, saAPeIarse adT 3e YRS U M giaT €,
FeaArE gl

1. Voltameter / ?ﬁF‘I—cT:ﬁER’

2. Thermometer / JHTHICI

3. Ammeter / THIEX

4. Electrometer / ﬁw

Correct Answer :-

« Voltameter / AICTHICY

25) The pole star appears fixed in the sky because: / {d dIRT TR AR f?{@'l'sf %?IT%, m
1. It is located on the axis of rotation of the earth. / & qu?ﬁ & GRS B ﬂﬁ R R g
2. It is the brightest star. / dg aiferes THe Il aRT |

3. It extends as an imaginary line from the ends of Ursa Major. / & ﬂ"{?‘lﬁé” BRI Y TPh WW
o1 fAqIR HRaAT 8|

4. Stars do not move. / AR ITfdl :I_E?[W?f %l

Correct Answer :-

« Itis located on the axis of rotation of the earth. / dg qu?fr & URSHHU Dt ?J,ﬁ R YT BT 8|

26) The contrasting features for the shape of the seed are: / S & AMPR & ﬁ'q RER faRidt
1. Yellow and green / diar 3R Bxl

2. Round and wrinkled / e 3IR §Ij al}

3. Inflated and constricted / el §31T 3R F@?ﬁ[ﬂ

4, Gray and white / ¥ 3R A

Correct Answer :-

« Round and wrinkled / Tl Gﬁ? Qoi Gl



27) Before reduction takes place, metal sulphide has to be converted to: / U HE K] T{Cf, YTd

TAPISS Bl ST URafdd BT USdl §:
1. Oxides / TS S
2. Sulphates / Tehe

3. Metals / YTJ
4, Carbonates / CAGIEE

Correct Answer :-

. Oxides / 3HASS

28) Which of the following is NOT a kind of epithelial tissue? / 71 # q =T TP UHPR &1 IUSAT

SAD TG 62
1. Squamous / w
2. Columnar / HdHIBR

3. Cuboidal / YThR
4, Connective / Tgrolt

Correct Answer :-

+ Connective / ﬂ'ch?rﬁ

29) Which one of the following organisms is NOT microscopic? / fEad s arsia ﬁ&ﬂ'c{ilﬁq

TE 8?
1. Bacteria / GﬁaTUj

2. Virus /ﬁ'EITUI
3. Amoeba / SFHIET

4. Lice / 5

Correct Answer :-

30) Cell secretions are processed and packed up by: / BRI I A & GRT STiera 3R
Tpferd fpe omd &

1. Golgi apparatus / el SUHRT

2. Nucleus / Tt

3. Endoplasmic reticulum / NRECIUACIINED]

(36)



4, Mitochondria / Wﬁb‘[

Correct Answer :-

» Golgi apparatus/‘lvﬂ JUDRUT

(37)



